File No.FWLD-D3/104/2021-FWLD





GOVERNMENT OF KERALA

Abstract

Forest & Wildlife Department-Designating Single Nodal Agency (SNA) for implementing various Centrally Sponsored Schemes (CSS) of Forest Department-Sanction accorded-orders issued.

FOREST & WILDLIFE (D) DEPARTMENT

G.O.(Rt)No.178/2021/F&WLD Dated, Thiruvananthapuram, 17/06/202

Read 1. G.O.(P) No.51/2021/Fin dated 15/03/2021.

- 2. Circular No.44/2021/Fin dated 24/05/2021.
- 3. Letter No.P1-46902/2016 dated 28/05/2021 from the Principal Chief Conservator of Forests (Planning & Development).

ORDER

As per Paragraph 2 (1) of the Circular read 2 nd paper above, it was instructed to the Administrative Department concerned to designate a Single Nodal Agency (SNA) for implementing each CSS before June 2021. The SNA will open a Single Nodal Account for each CSS at the State level in a Scheduled Commercial Bank (except Foreign Banks) like State Bank of India, other Nationalised Banks, Regional Rural Banks, Other Scheduled Commercial Banks (Private Banks) before 15 June 2021.

Subsequently, as per letter read as 3 rd paper above the Principal Chief Conservator of Forests (Planning & Development) has proposed Single Nodal Agency (SNA) for each Centrally Sponsored Schemes (CSS) of Forest Department and requested Government Order designating the SNA's for the implementation of various CSS under Forest Department

Government have examined the matter in detail and are pleased to order to designate Single Nodal Agency (SNA) and their corresponding Centrally Sponsored Schemes (CSS) <u>as mentioned in Annexure</u> to the order for the implementation of CSS's of Forest Department as per the instructions / guidelines issued in the Government Order and Circular read 1st and 2nd papers above.

(By order of the Governor)

K Sureshkumar

Additional Secretary

To:

The Principal Chief Conservator of Forests and Head of Forest Force, Thiruvananthapuram.

The Principal Chief Conservator of Forests (Wildlife)& Chief Wildlife Warden, Thiruvananthapuram.

The Principal Chief Conservator of Forests (Planning & Development), Thiruvananthapuram.

The Additional Principal Chief Conservator of Forests (Social Forestry), Thiruvananthapuram.

The Chief Conservator of Forests (E&TW), Thiruvananthapuram.

The Principal Accountant General (A&E / Audit), Thiruvananthapuram.

The Finance (Planning - A) Department

The Finance (Streamlining) Department

Information and Public Relation (Web & New Media) Department (for uploading Government web site)

Stock File / Office Copy.

Forwarded /By order

Signed by Asharaf.a

Date: 17-06-2021 15:21:51

Reason: Approved icer

Annexure

Proposed Single Nodal Agency (SNA) and their corresponding CSS budget heads.

SI No	Single Nodal Agency (SNA)	CSS Budget Heads being handled by the Single Nodal Ager	су
1	CCF (E&TW) or the Head of the Ecodevelopment & Tribal Welfare Wing	National Afforestation Programme - National Mission for Green (60 : 40 % CSS) - Head of Account : 2406-01-102-86	Indi
2	CCF (E&TW) or the Head of the Ecodevelopment & Tribal Welfare Wing	Minimum Support Price for Minor Forest Produce (75% CSS) - Hea Account : 2406-01-105-89	d of
3	APCCF (SF) or the Head of the Social Forestry Wing	Conservation of Natural Resources and Eco-systems (Wetland Conservation) (60: 40 % CSS) - Head of Account - 2406-02-110-32	
4	Chief Wildlife Warden	Integrated Development of Wildlife Habitats - Management of W Sanctuaries (60 : 40 % CSS)	ildlif
		Head of Account : 2406-02-110-39	
		2406-02-110-39 (01) Neyyar Wildlife Sanctuary	
		2406-02-110-39 (02) Wayanad Wildlife Sanctuary	
		2406-02-110-39 (03) Idukki Wildlife Sanctuary	
		2406-02-110-39 (04) Peechi-Vazhani	
:		2406-02-110-39 (05) Peppara Wildlife Sanctuary	
		2406-02-110-39 (06) Shendurney Wildlife Sanctuary	
		2406-02-110-39 (07) Chimmony Wildlife Sanctuary	
		2406-02-110-39 (08) Aralam Wildlife Sanctuary	
		2406-02-110-39 (09) Chinnar Wildlife Sanctuary	
		2406-02-110-39 (10) Thattekkad Bird Sanctuary	
		2406-02-110-39 (11) Mangalavanam Bird Sanctuary	
		2406-02-110-39 (12) Kurinjimala Sanctuary	
		2406-02-110-39 (13) Choolannur Peacock Sanctuary	
		2406-02-110-39 (14) Malabar Sanctuary	:
		2406-02-110-39 (15) Kottiyoor Wildlife Sanctuary	: -
		2406-02-110-39 (16) Karimpuzha Wildlife Sanctuary	
5	Chief Wildlife Warden	Integrated Development of Wildlife Habitats - Management of National Park (60 : 40 % CSS)	onal
		Head of Account : 2406-02-110-38	
-		2406-02-110-38 (01) Eravikulam National Park	
		2406-02-110-38 (02) Silent Valley National Park	

SI No	Single Nodal Agency (SNA)	CSS Budget Heads being handled by the Single Nodal Agency
		2406-02-110-38 (03) Anamudi National Park
		2406-02-110-38 (04) Mathikettan National Park
		2406-02-110-38 (05) Pampadumshola National Park
6	Chief Wildlife Warden	Integrated Development of Wildlife Habitats - Management Community Reserve (60 : 40 % CSS) - Head of Account : 2406-02-110-37 (01) Kadalundi Vallikunnu Community Reserve
7	Chief Wildlife Warden	Project Elephant (60 : 40 % CSS) - Head of Account : 2406-02-110-35
8	Chief Wildlife Warden	Project Tiger (60 : 40 % CSS)
		Head of Account : 2406-02-110-36
		2406-02-110-36 (01) Periyar Tiger Reserve
		2406-02-110-36 (02) Parambikulam Tiger Reserve
9	Chief Wildlife Warden	Conservation of Natural Resources and Eco-systems (Agasthyamala Biosphere Reserve) (60:40%CSS) - Head of Account: 2406-02-110-33
10	Chief Wildlife Warden	Conservation of Natural Resources and Eco-systems (Nilgiri Biosphere Reserve) (60 : 40 % CSS) - Head of Account : 2406-02-110-34
11	PCCF (P&D) or the Head of the Finance Budget Audit and Planning Wing	Forest Fire Prevention and Management Scheme (FPMS) (60 : 40 % CSS) - Head of Account : 2406-01-800-53